
 
Given that 3 5110 K

or 4N 15

or n I E
set descriptor notation a ne f
interval notation n

Graph 54

I z b

Statements that are true

In141 is the distance between n 4 True

N't 2 220 True

we plot the curve pin n't n 12
P1

we observe that Pln never crosses

the x axis So there is no solution

37 so when 2 1 0 False

The values 2 8,20 do not belong to the solution set
Falle



XD y n In 18

2 2 n 9

aL g

From the plot we observe that yo when ne 2,9

or n 7N 1810

or m2 7ns 18 when N E f 2,9

OH at a 15 and a C 2

Note a C 2 implies n 5 Hence it can be written as

nine 2

n I n 5 and NC 2

al 5cal 2

a a 5 and a L 23
at the two inequalities can not be satisfied simultaneously

a a s and n 23 n a 53
as 275 implies my 2



22 3m 14 or 22 3m 4 0

or n 4 att to

either n 47,0 att to

or 27,4 Mt 1 not possible

the other solution 4 4 to htt 7,0

or at 4 N I

Set descriptor notation l 11m19

interval notation se E f 1,4

Graph

t id's
Given that 31170

one solution n 57,0 32 270

or 27,5 N 213

which implies 275
the other solution n 510 3N 1260

or 215 N C 43

which implies NC 43



i The solution is a nc 43 or ay 5

NE o 3 015,0
23 5

it b's b

ay
9 110 3 1

n

7 10 3x

when a o a 5

a

as or a 5aco

so 51915 option B

16 121718

when 16m 127,0 6h 127,18 or nd I

my

6N 1220 64 1277 18 or NE 5

NE 5



The solution n at 5 or n I

or a E Ew 5 0 1,0

t.si
Idn 9110

so we have an g f o or N f g
and an 9 to or an 970 on my914

The solution is a a 4
ne I



ProblemI
ppg

C 14,9

AC3,4
g

A 4 1 3 7

BC 9 4 5

AB JAc2t
7757
14925 574

The distance formula is xp na t 17 YA

J 4t3 9 4

7257 V74

Both the formula are same

The distance between DE f 7 5 2t13 f2 112257 13

The midpoint M 721 321 1st

The distance of DM ffs.it tfz f62t5f z
the distance ME J 7 17 3 t 16247 12

DM ME DE as it should be



DO The eqn of the line containing D 5 2 and E 7,3

is

or Y 3 EG 7

Problemf

Si N 5 y 372 25 and Sz n 5 y 3
2
87

ay

y

d

s
S2

in

The eqn of the circle is Catz t y 6

unit circle n y I

The center is at M 5 8451 20 50

and radius R flbot.io g 2 25514

The eqn is 20 t Y 50 44514 2056



Problem's

OA The two egos are at 9 90 or Yo t to
and Gat 109 648 or if 37413 1

OB N

The intersection point is

90 163,27

64 g

63,277

98 180
N

Nt y go 62 107 648

The number of thingamabobs is 63

number of whatchamacallits is 27

Nty go y 90 x

Gat 109 648 7 D 648 6 7

so 90 n to 648 6 1
Or 900 10x 648 6 1

or 4X 900 648 252

or 2 63



So y 90 N 90 63 27

Problemt M 7 47N
M

y x

option4n

X 7

2n By 112 2 2714

NY

b4

µ
46101

x

f 4


